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Question Number : 1 Question Id : 4509387201 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The domain of the real valued function f(x) = VI —VxZ — 144, is

fx) = V9 —Va? — 144 8 aFQad PO (a0 ORI ARNEY (D0
Options:

[—15,—12] U [12, 15]
1.¢

(—00,—12] U [12, )



[—15,15]

[-12,12]

Question Number : 2 Question Id : 4509387202 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If set A has 5 elements, set B has 7 elements then the number of many one functions that can be

defined from A to B 1s

A, B AN ST 5, 7 rosed $OR and) ke A »odk B §

A SDOVHON 2aT08 (IO oD

Options:
R )

1. %

57 —5
2. %

57 A ?PE
3. %

?5 o TPE
4. &

Question Number : 3 Question Id : 4509387203 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
24+34+5+6+8+9+ -+ 2Znterms =
24+34+54+64+84+94+ 4 2n00°0 =

Options :

3n% 4+ 2n
1.4

4n% + 2n

4An?

5n? + 2n

Question Number : 4 Question Id : 4509387204 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the set of equations x+2y+3z=6x+3y+52=9,2x+5y+az=>b has unique

solution. then

W

DeDEBETO 85 x+2y+32=6,x+3y+52=9,2x+5y +az=b § 258 PG

SO, 69

Options:



a+8.bER

a+15 =8

Question Number : 5 Question Id : 4509387205 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If P and Q are two 3 X 3 matrices such that [PQ| =1 and |P| = 9. then the determinant of

adjoint of the matrix P. Adj 30 1s

P 90050 @ e TOh 3 x 3 &SN [PQ] = 1 HOOW [P| = 9 @TDELY 50T

P. Adj 30 G308) ©9:0200¢) P38 B3NE) AT HE

Options :

gt
1.¢

92
3. %



Question Number : 6 Question Id : 4509387206 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
g 1 2Z 7 -1 -5

Iféi:[l 2 b‘andﬂdjflz -3 9 5"(11&11(1’2{'52{'(‘2:
¢ 3 3 1. =3 &
a 1 2 7 —1 =5

Az[l 2 b]éo@cﬁnﬂd;‘ﬂz 3 9 5|®on@Bal+bi+cl=
e 1 3 1 —3 5

Options:
10

1.4
14

2. %

_

3., %
29

4. ®

Question Number : 7 Question Id : 4509387207 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If Z is a complex number such that |Z| < 3 and _—; <ampZ <= g, then the area of the region

formed by locus of Z 1s

2] <3 B0 — < amp 7 <~ @Gh GO Z BI0 2.8 H084 Nows, BN Z

Q%) DOHNG0 T §T° IR (TPOhaD TNE) FTO5e50



Options :

O

1. %
O
2.9 2
3T

3. ®
O
_ 4

4. %

Question Number : 8 Question Id : 4509387208 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Z—1 T
The locus of the complex number Z such that arg (m) = =15

Z2—1 T 5 .
Arg (ﬁ) =3 @ahs DA Z @ H08Y dows ABnE) HochISo.

Options :

a straight line

2,8 DB T

a circle

S IPVALLINW
2. %



a parabola

205 D T%ICICD a0

an ellipse

L 508898

Question Number : 9 Question Id : 4509387209 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

All the values of (8/)!” are

(8113 3308y Q) Denden

Options :

+ (V3 +i),—2i
1. #

+V3 +i,— 2i
2.

+ (V3 —i),2i
3. %

asf P
4, %

Question Number : 10 Question Id : 4509387210 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

If @, B are the roots of the equation x> = 6x =2 =0.a > f and @, = a" — ", n = 1. then the

aip-24ag .
is equal to

value of
2aq

&, B @) DadEBEIN 1% — 63 — 2 = 0 TINE), POV, a > B HOAN

L=at— BN n 21 O0N® @) 132 2 B0 Dend

(g
Options:
1. % ®
2. % &
3.¢
2
4. %

Question Number : 11 Question Id : 4509387211 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If both the roots of the equation x? — 6ax + 2 — 2a + 9a* = 0 exceed 3, then

D060 2 — 6ax +2 — 2a + 9aZ = 0 B3NE) TOCH TERNEN 3 § MO GOT,

2909 )¢

Options:



1. %
3
@3 =
2
2. ®
5
a = _
2
3. %
11
az —
4.V

Question Number : 12 Question Id : 4509387212 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If @ and f are two distinct negative roots of x> — 5x3 + 5x% — 1 = 0. then the equation of least
degree with integer coefficients having '~ and .\;"—_ﬁ as 1ts T001s 15
25 =53 +5x2—1=0 G308, GOtk add) 2P Hrere) ¢ HOOD fen
BONE, V=a,-F O SN dd) aFFod Hsen 50 $da) DT

N0

Options :

x? — 3x+1=0

—x*+5x2 — 5x+1=0



—x%* — 5x245x+1=0

xr —3x%2+1=0
4.

Question Number : 13 Question Id : 4509387213 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the number of real roofs of x° — x*+x* —1=0 is ». the number of complex roots having
argument on imaginary axis is 7 and the mumber of complex roots having argument in 2%

quadrant 1s K, then m.n. k =

2=+t =120 50 0 Qe TP NODS 1, BSOFD0 SO ©50 D o
S080sPere) 02z m HBAM 269 2P0 S BTN o) osErere Hos K
OO, m.nk =

Options:

6
1.¢



Question Number : 14 Question Id : 4509387214 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

All the letters of the word TABLE are permuted and the strings of letters (may or may not have
meaning) thus formed are arranged in dictionary order. Then the rank of the word TABLE

counted from the rank of the word BLATE 1s
TABLE 206 R 89) @008 Tl ©f 630608 (@dS08089 i)
B SEFS0)) Aen0ens) (5o Gomrd. @) BLATE S0 0308, 0705

OB B8)00a))¢0 TABLE 250 03w&), 0705

Options :
50

1. %
.

2. %
61

3.
37

4, %

Question Number : 15 Question Id : 4509387215 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



5 boys and 6 girls are arranged m all possible ways. Let X denote the number of linear
arrangements 1 which no two boys sit together and Y denote the number of linear arrangements
in which no two girls sit together. If Z denote the number of ways of arranging all of them around

a circular table such that no two boys sit together, then X: Y: Z=

5 (H% 2re08, 6 (D 2POEOD FPEFRIN), ATV BT, 2 BEE 2renth
DENES ErFISK0ET &) S0 BHBED HoPsDd X DB ) BYH
Oi DS ErBSKom &%) SN ©Hote  dopid Y
ATOTOFD0T0. FE0G8Y &8 Hodd 20 DEF ) 3G erend
3883 885800t GoBELY @X08)1OT ere 50D Z ArD W, )
X:Y:Z-

Options :

1=1:21

21:1:1
2.

Question Number : 16 Question Id : 4509387216 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The number of ways of distributing 15 apples to three persons A. B. C such that A and C each get

at least 2 apples and B gets at most 5 apples 1s

15 0O 0D A, € ©%) 2,578,068 E0 Boch O B & (1B 5 Airnd
DO SN0 DMHE 550eN A, B, € O3 OO 2eeine 03

Options :

7
1.4

131
2. %

156
3. %

251
4, ®

Question Number : 17 Question Id : 4509387217 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the 2%, 3 and 4™ terms in the expansion of (x + a)" are 96, 216, 216 respectively and 1 is a
positive integer then a + x =
(x+ a)"* B0E), DB 269, 369, 4 TN SET 96, 216, 216 HOAW 1 2.8 59

8 D0DS WOV ¢ +x =
Options :

n+1
1. ¢



2. %

n —1
3_%’-5

n

:
4. % =

Question Number : 18 Question Id : 4509387218 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

25
If |x|<1. then the number of terms in the expansion of E(I.Z 42304+ 345 )| s

i v v v
[r|<1 @0, [2(12+23x + 3417 4 f)] TB0E), ANGRSA AT oS

Options :
Infinite
950650
101

2_ W
76

3. %

51



Question Number : 19 Question Id : 4509387219 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
4
x| < 1, The coefficient of x2 in the power series expansion Df(+1—(x2)
“.’ i m ijgg,- o}jb@\é? %Eﬁ o.‘_}f\:"fjg]{ﬁé X méé heaso
Options:
3
0
2.
—1
3. %
—3
4. %

Question Number : 20 Question Id : 4509387220 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

1

If M1 and M2 are the maximum values of - and 3 cos5x + 4sin®5x
11 cos2x + 60 sin2x + 69

. M,
respectively, then — =
? M,

1
11 cos2x + 60 sin2x + 69

M; DO Mz € SN D05 3 cos25x + 4sin?5x © (1B
DONIBB, 2 =
98,

Options :



o
1
32
2. v
3, %
-
4. %

Question Number : 21 Question Id : 4509387221 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
4 T m 21 21 4 _
cos 6035 cos - cos - cos =
Options :
|
1.¢ -
1
32
2_ F
1
32



oo =

Question Number : 22 Question Id : 4509387222 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

| N o . . . 123
In a triangle ABC. if 4, B, C are i arithmetic progression and cos 4 + cos B +cos € = Bﬁ\

thentan 4 =

82080 4BC S, 4, B, €0 @0FFG S w00 SHOAN

IEA Y
cosd+cosB+cosC = 1+;2%\,3 @‘JO&J@ tand =
¥
Options :
V3
1. =
2 +4/3
2.9
1
3. %
2 -3
4, %

Question Number : 23 Question Id : 4509387223 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The general solution of the equation tanx + tan 2x —tan3x = 0 is

tan x + tan 2x — tan 3x = 0 DNESB0 ALY PG 2SS

Options :

T nm
{x|:r = N igm' - € Z}

1. #
T
{x|;~: =nrt EOT nmw,n € Z}
2. ¢
T nm
{x|.¥ =nxE 1L —of —ornmnE Z}
3 2
3. %
{ +IT nm 2
x{x =nn —or 1 E }
| 6 2
4, ®

Question Number : 24 Question Id : 4509387224 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
- R - 2o e
The value of x such that sin (2 Tan * I) = cos(2 Tan™! x) is

sin (2 Tan * z) = cos(2 Tan™ x) @ADSEIEVTT GOT x DEND

Options:



1| =

~1| o=

Question Number : 25 Question Id : 4509387225 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

: 3 . .
Iftanhx = sechy = = and e**Y is an integer. then e**Y =

3, |
tanhx = sechy =~ 0005w e¥* 2.8 yT0%0 @OV, e*+Y =
Options :
2
2% S
1
3. %
6



Question Number : 26 Question Id : 4509387226 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In AABC. if b+c:c+ata+b=7:8:9, then the smallest angle (in radians) of that

triangle 1s

ABC & b+cictatath=7:8:9 ©00d, & [BHz0 BE 2 §6o

BAOHIS)

Options :
4
cos™(5)
1.+
18
2. % 3

> | o

Question Number : 27 Question Id : 4509387227 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In A ABC. if (a + ¢)? = b? + 3ca. then Z—: =

atc

AABC S, (a + ¢)? = b2 + 3ca ©ONS, — =

Options :

1.



*~f3/2

“
— A=
'\f‘3.cos( : )
2. ¥
T
cos
z
3. %
; (A == C)
sin
.. 2
4. %

Question Number : 28 Question Id : 4509387228 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

V3

In A ABC.1f A, B, C are in arithmetic progression, A = = and ;75 = 131, then R =

AABC S A,B,C 0 @OSEAS &y, A =2 HBOD 1yr, = 13- ©QNS. R =

Options:

V3
1. %

2
2. %

1



Question Number : 29 Question Id : 4509387229 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Let a=3i+4j- 5k, b = 2i gj= 2k. The projection of the sum of the vectors a,b on the

vector perpendicular to the plane of @, bis

@ =3i+4j -5k b=2i+] -2k ©H%0w0. 7,h SOOI 0% ©02 AOI a,b

© INEB0 T0EY DT e
Options :
0
1.4
42
2. #
7V2
3. #®
il
V2
4. %

Question Number : 30 Question Id : 4509387230 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In APQR, (ﬂj +3j+ 6@, (:2? +2j+ 3%) and (E'Jf £k E’»D are the position vectors of the
vertices P. Q and R respectively. Then the position vector of the point of intersection of the angle

bisector of Pwith QR is

PQR (820206 P, Q, R & 'S SOOI S0 (4 + 3] + 6k), (2i + 2 +3k),

(31 +] + 3k) ©00S P B0E) 563 0B D0 TP QR & DOGOT Doce) T
SIAL

Options:
6i 4+ 5j + 9k
1. %
2i —j+ 3k
2. %
(5i + 3j — 2k)
3. %
Regies o
Bt
4.9

Question Number : 31 Question Id : 4509387231 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Iff =i+j+kand g = 2i — j + 3k then the projection vector of f on § is
f=i+j+kNO0N g=2i—j+3k @S 72 f B0E; ©0 DT D B
Options:

1. %



2
i ik
?Ef j+k)

2
E (2i — j + 3k)

2.
1 |
~{i4i+k)
3, % 3
1('2' ' + 3k
14 =4 )
4. %

Question Number : 32 Question Id : 4509387232 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If  is the angle between f = i + 2j — 3k and § = 2i — 3j + ak and sin 6 = \/%then
7a* + 24a =
f=i+2j -3k HOOW § = 2i — 3j + ak ©aDCS §€I0 § @O sin b = Jg@cm@*
7a% + 24a =
Options :
10

1.+

12



36

15
4. =

Question Number : 33 Question Id : 4509387233 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The distance of a point (2,3, —5) from the plane 7. (4i — 3j + 2k) = 4 is

7. (4i — 3j + 2k) = 4 40 DOG (2,3,-5) 2DONYIZY (10 S0

Options :
it
1. #
11
m'ﬁ
2. %
1h
\29
3. %
11
4. % L

Question Number : 34 Question Id : 4509387234 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
If X1, X5, X3 ... X, are 1 observations such that Y(x; +2)? = 28nand X(x; — 2)? = 12n.
then the variance 1s:
Xy, Xg) X3 o Xy O 1 DOFOSEN X(x; +2)2 = 28n OGN X(x; —2)% = 121,
@905EILY G TR DY :

Options :
12

1.¢

5 % 14

3 % 16
20

4, ®

Question Number : 35 Question Id : 4509387235 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Three numbers are chosen at random from 1 to 20. then the probability that the sum of three

numbers 15 divisible by 3 1s

1 00 20 6% 110 0D DO DTC NOPZOND QTFEHD IS0 e 20T

& 0RO VB0 3 T ArAoDAGETNE Noerased
Options :

1

| % 114



147

5 % 342
16
47
3. %
32
85
4.

Question Number : 36 Question Id : 4509387236 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Two persons A and B throw three unbiased dice one after the another. If A gets the sum 13, then

the probability that B gets higher sum is
A OO B @F 390 35500 P QS EDN FAEOD 2,80 dhared
DOTED DT, A oA Fndo 13 BOVS, B ©osi) Wb

TR FOTOHZ 0236

Options:
by
216
1. %
27
2. %

3.¥



20
216

Question Number : 37 Question Id : 4509387237 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

8 teachers and 4 students are sitting around a circular table at random, then the probability that no

two students sit together is:

8 008 GalTrs 0N DEA 4 (H&) DTN 2,8 HHESTE O THEY
OISR 50m 8rth 108, & B Arsden §0 BHom &oToHE

SJOTANICS
Options :
7
88
1. %
14
33
2. %
8
33
3. %
33

4.



Question Number : 38 Question Id : 4509387238 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
A bag contains 6 balls. If three balls are drawn at a time and all of them are found to be green,

then the probability that exactly 5 of the balls in the bag are green is:

2,8 500 506 6 20600 §0069. TAHOG 2,376 3 D0KHOD B 2 €9 A
830298)) 20T ST . WS 8 0D SO PDIBOT 5 BRI

20e)EN0ITAS 02F5eh:

Options :
4
35

1. %
5
35

2. %
2
3. 7
1
7

4, %

Question Number : 39 Question Id : 4509387239 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In a Binomial distribution. the difference between the mean and standard deviation 1s 3 and the
difference between their squares is 21, then P(x = 1) : P(x =2) =

2,8 30 B3 S0, D50 OO (F0RION06) DS BC3en 3
B05) TR T aNEIE B 21 WONB P(x=1): P(x=2) =

Options:

4, %

Question Number : 40 Question Id : 4509387240 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

When an unfair dice is thrown, the probability of gefting a number £ on it is P(X = k) = k?P.

where £=1. 2, 3. 4. 5. 6 and X is the random variable denoting a number on the dice. then the

mean of X 13

aJé gji]'u l\|§

[ ¥y

S0 FRED DVOIYE TR kO OV SFODOSHE
NOZF36 P(X = k) = k2P, k = 1,2,3,4,5,6 D00 aPDE 2 0, OPFD
OSFC3D8 TR X T AP W, TR 080500

Options :

20
1. %



2. %
441
3% 0
441
91
4, &

Question Number : 41 Question Id : 4509387241 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The equation of the locus of points which are equidistant from the poits (2. 3) and (4. 5) 1s
2, 3) BN (4 5) DoYOH NrS Erdo & 00T Hochsy By
DCRDEBE0

Options :

x4y =20

xFy= 7
a4

4x + 4y = 38
3. %

b e |



Question Number : 42 Question Id : 4509387242 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The transformed equation of x% — y? + 2x + 4y = 0 when the origin is shifted to the point
(-1,2) 1s
OO AP0 I0GS 1507 S0 DODYND (-1,2) § 70

1 =y + 2+ 4y = 0 Q08 Eraroedd Hed3BE0

Options :

2 Eyt =1
1. %

.13 =1
2. ®

x2—y24+3=0

4x? +9y? = 36

Question Number : 43 Question Id : 4509387243 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The equation of the side of an equilateral triangle 1s x 4 y = 2 and one vertex is (2,—1). The

length of the side is

2,8 e 2757 89220 G308, 2.8 2920 x +y = 2 080 (2, -1) 28 940 oS
2200 OR08) rcha)



Options :

= | [
Wi | ra]

I
- —
]

{:—.
W]

{:—.
9]

| ™

Question Number : 44 Question Id : 4509387244 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The orthocentre of the triangle formed by ines x + y+ 1 =0;x —y—-1=0and

Ix+4y+5=01s
x+y+1=0 x-y-1=0, 3x+4y+5=0 OF 0208 )T BB G0E)

©0230 (e
Options :

1.9

(0,0)



(L 1)

Question Number : 45 Question Id : 4509387245 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the slope of one of the pair of lines represented by 2x* + 3xy + Ky = 0 is 2, then the angle

between the pair of lines 1s

262 + 31y + Ky? = 0 00T Oaranios o B aren 2 @ond Saranio

¢3 860

Options:
2
1.¢
T
3
2. %
T
3. % 6
T
4



Question Number : 46 Question Id : 4509387246 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The length of x-intercept made by pair of lines 2x% + xy — 6y> = 2x + 17y - 12 = 01is

202 4y — 6y - 20 + 17y - 12 =0 & OO0 r @50 2 D0 @OSSEDOE0
SPCo0)

Options :

2
1. %

10
2. %

3
3.

20
4, %

Question Number : 47 Question Id : 4509387247 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

From a point (1, 0) on the circle x% + y* = 2x + 2y + 1 = 0 if chords are drawn to this circle,

then locus of the poles of these chords with respect the circle x* + y? = 4is

a4y 204274+ 1=0 5980 D 0 (1, 0) Dotda) NoG & SHTS 35en

AN 12 4 32 = 4 59B0 G als, 88 3750 (NS0 Dochado.

Options:

x =4



-2y =>5

2. %

x2+yi—x—y=0
3. %

2y = (x+1)
4. %

Question Number : 48 Question Id : 4509387248 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If A and B are the centres of similitude with respect to the circles x% + y> — 14x + 6y +33 =0
and x* + y 4 30x — 2y + 1 = 0, then midpoint of AB is
x4y - 14x 4 6y +33 = 000050 22 432 +30x -2y + 1= 0 59D 3%, A
008 B €0 AEPIT0|S0e) 0nS, A, B G308 8¢5 D0che)

Options :

53



Question Number : 49 Question Id : 4509387249 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
C1 15 the circle with centre at O (0. 0) and radius 4. C2 1s a variable circle with centre at (a, f) and
: 3 S
radius 5. If the common chord of C and C; has slope i and of maximum length. then one of the

possible values of @ + f 15

C1 &% 590, 30150 0 (0, 0) HOM 5T 4 EOAY0B. ¢ ©F VBHYS0
501830 (a, B) HBAM F5arG0 5 EODRH0E. B8 HyEPen C1 O €2 © o) &7

R, Fen % ™ 606 182) oD $OR SOD, a + f § TS5NT Nensded 2,83

Options :
21
5
1. %
3
B
2. ¢
1
3. % 2
19
5

4. %



Question Number : 50 Question Id : 4509387250 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the pair of tangents drawn to the circle x? + y? = a*from the point (10. 4) are perpendicular,

thena =

(10, 4) Doca) D0 x? 4 y? = a2 ST A )80ar Ao L0 &oD),

=
Options :
V58
1.+
58
2. %
2v63
3. %
2v/45
4, #

Question Number : 51 Question Id : 4509387251 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If x — 4 = 0 is the radical axis of two orthogonal circles out of which one is x + y% = 36, then

the centre of the other circle is

2,8 299Seed 1%+ y2 = 36 T HOR B0 ©ODTAN 9T APerE0 x -4 =0

©ONB, 8 SHTOS DB 980 T8y S0(¢0

Options:



(8.0)

1. ®

(9. 0)
2.

(6. 0)
3. %

(12.0)
4. %

Question Number : 52 Question Id : 4509387252 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the normal chord drawn at (20, 2&1-"5] on the parabola y* = 4ax subtends an angle 8 at its

vertex. then =

y? = dax HTWHOO0D03) (24, 20v2) Hochey HG Hd o &g, o) 360 6 0

S0 T, 0=
Options :

45°
1. %

90°

135°
3 %



60°

Question Number : 53 Question Id : 4509387253 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the ellipse 4x* + 9y? = 36 is confocal with a hyperbola whose length of the transverse axis is

2. then the pomnts of mtersection of the ellipse and hyperbola Le on the circle
A58 0 8rehed) BochP EORS 28 @& JTHO0S 412 + %2 = 36 OSyS0
METHOHOT &0ty & HUSHB0 HOAN ©BITHOMMNG TG, PO

D0HON 0T g0

Options :

Z o =0k

x2+y2=16
2. %

x2+y?2=25
3. %

x2+y2=5
4,

Question Number : 54 Question Id : 4509387254 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



3 X s ; ;
If the eccentricity of the hyperbola g %=1 is sec a, then area of the triangle formed by the
asymptotes of the hyperbola with any of its tangent 1s

2

i T o s =y e W, 14
- 5l e8iTH00H0 s GBS seca HONS, B BBHTHOAN0

T, @506 35000 HOAD TATNE, BN 96008 6T |Beha

ITO50

Options :

a®b? sec? a
1. %

52

|tan «f
2. ¥

a’tan’a
3 %

(a?+b*)tana
4, %

Question Number : 55 Question Id : 4509387255 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



: e 8 xt - : :
If e1 and e; are respectively the eccentricities of the hyperbola — - %=1 and 1ts conjugate
z :

hyperbola. then the line 2 ¥=l touches the circle having centre at the origin. then its radis is
ke | T

e, D00 &, O DT DTN o };—2:1 D30 TR dooi

al

STHOADO T8} E5B0[SSen NS, —+ =1 53 Sredochs) So|dsnr

(1) SHTR, M9, & Hgehedy By F5o

Options :

2
1.4

R
2. %

€1€2
3. %

4
4, ®

Question Number : 56 Question Id : 4509387256 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The orthocentre of triangle formed by points: (2,1,5), (3,2,3)and (4,0,4) is

(2,1,5),(3,2,3)s00050 (4,0,4) Dochyod d8)T |B2dBein GRE) 05050

Options :

(3,1,2)
1. %



(3,2,3)

2. %

(3,1,4)
3. %

(1,4,0)
4. %

Question Number : 57 Question Id : 4509387257 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

IftP=(01,2),Q =(4,—-2,1)and 0 = (0,0,0) then £P0OQ =

P=1(0,12),0 = (4-2,1) 08050 0 = (0,0,0) ©ONS LP0OQ =

Options :
3

1. %
T
4

2. %
T
., 3

3. %
T
2



Question Number : 58 Question Id : 4509387258 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the perpendicular distance from (1, 2,4) to the plane 2x + 2y —z+ k = 0is 3,then k =

(1,2,4) 0B 2x + 2y —z+ k = 0 O3 Her ffer ©0r80 3 @oNS k =

Options :
4
1. #
7
2. ¥
3. % ¢
15
4, ®

Question Number : 59 Question Id : 4509387259 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

’ ll 1 ] _
0 x e*—1]
Options:

0



3. %

4.¢

Question Number : 60 Question Id : 4509387260 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

¢ 0, x =1
2500,  JorlE e
2, forz=A1

Let f(x) =3 4

e For1 &3 <52
-3 i

o forx =2

then which of the following is true

29008, (80 3735 DO Hebgadn

Options:

f 1s right continuous at x = 0

x =038, f OO 50 DDA 0

f 1s left continuous at x = 1

¥ =139, f OTE DCHd DD ) o0



f 1s right continuous at x = 1

= 156, f @A 50 9D W

f 1s continuous at x = 2

3D, f DDA 30

Question Number : 61 Question Id : 4509387261 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

1/
it flx) = (H—x) is continuous at x = 0 then f(0) =

=056 f() = (E) 29D I 0 L0WE3, (0) =

Options :
el
1. %
o2
2. ¢
2
3. %
g_lfz



Question Number : 62 Question Id : 4509387262 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The function f(x) = |x — 24] 1s

F0) = |x — 24] @D (DDA

Options :

Differentiable on [0, 25]
[0, 25130 @958 0DD

1. %
not continuous at x = 24
x = 24 5 DD )Y 0 5D
2. %
neither continuous nor differentiable on [0, 25]
[0, 2513 9D J52,.8300 5°¢3 DO 935NN 5°¢H
3. %
Continuous on [0, 25]. but not differentiable on [0, 25]
[0, 25] 30 @D )53, 5% @580 57¢H
4, v

Question Number : 63 Question Id : 4509387263 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



- . [ — d? e |
If y= J sinx ++/ sinx + /sinx + - oo then the value of d—j_: at the point (mr, 1) is
X

—_— . . 19 dz
Y= J sinx ++sinx +sinx + 00 OB, (r,1) D) SO —= =

Options :
2
1. %
=2
2. ¥
1
g
3. %
d
4, % Z

Question Number : 64 Question Id : 4509387264 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If f(0) =0, f'(0) = 3, then the derivative of y = f(f(f(f(f(x))))) atx =01s

f0) =0, f'(0) = 3®00B x = 059 y = F(f(f(f(f(x))))) B8} ©SEOI5

Options :
16
1. %



Question Number : 65 Question Id : 4509387265 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The value ¢ of Lagrange’s mean value theorem for f(x) = * + 24 in [0. 1] is

a { 8

[0,1] 65 £(x) = e* + 24 5 BP0 056 Densd DF0d0 TE) ¢ enes

Options:

log(e — 1)
1.9

log(e + 1)
2. %

log(e + 24)
3, #®

log(e — 24)
4. %

Question Number : 66 Question Id : 4509387266 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Equation of the normal fo the curve y = x® + x at the point (1. 2) is

y = 1% + 1 9D J5R8 (1, 2) 89D Do) I D02 T TnEy dhESeasn

Options :

x—3y+5=0
1. %

x+3y+7=0
2. %

x+3y+5=0
3. %

x+3y—7T=0
4.+

Question Number : 67 Question Id : 4509387267 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Displacement s of a particle at time ¢ is expressed as s = 2t* — 9t. Find the acceleration at the

time when the velocity vanishes.

2,8 §eaan A8y F'(0Fa 5, t A 3G 5= 265 -0t T Qu) AN,

156300 Ao 5050 e9GDE IO SIC) € 68 DOEH?

Options :
1. # 0
6 u§



Question Number : 68 Question Id : 4509387268 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If a running track of 500 ft. is to be laid out enclosing a playground. the shape of which is a

rectangle with a semicircle at each end. then the length of the rectangular portion such that the

area of the rectangular portion is to be maimun is (in feet),

&Y DRGNS AR OTSITFN €5ed) DT €5ed) 28 BEINO0 Y 2.8
500 . 500 (675 SN0 W, A Wehd() 2rifo BwE) FFO50
(102000586 &0T & AF e ariio gy ) (hihed)

Options :

100
1. %

123
2. ¢

150
3. %

200



Question Number : 69 Question Id : 4509387269 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

[ ; A, |
: dx
Fopi et — 252 £

Options :

1422 25t
2x2

4+

(14 2x2 + 2x4) 72

+c
2x2
2. %
]~ 2x%4 25% 3
N
2x2
3. %
(1 —2x2 +2x%) /2 .
i
2x2
4, &

Question Number : 70 Question Id : 4509387270 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
".x'arnlz_l,r4
P EN—— :{' =—f
1+ x8

Options:



(Tan™(x*))?

i s
1.9 .
(Tan"1(x*))?
— A
3
2_ W
(Tan 125}
4
4
3. %
(Tan™1(x%))?
. x)) 30
4. % <

Question Number : 71 Question Id : 4509387271 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

2
[ e
J 1+ x+x2

Options :
4 2% —1
—_Tﬂﬂ_l( — )‘|‘C‘
V3 V3

1. %




v3 \/3
3 %

2 i 2x 0
—Tan ( == ) +-
v3 V3

4. ®

Question Number : 72 Question Id : 4509387272 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

1
’- ————dx =
J x2(V1 +x2)

Options :
—Vx2+1
—+c
"
1.4
vxZ+1
) L
2. % 7
—yfxs = 1
+-€
T
3. %
Vx? —1
- g



Question Number : 73 Question Id : 4509387273 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
sin 7x
, , dx =
sin 2x sin5x
Options :

log (sin 5xsin2x) + ¢

1. %
log sin5x + log sin2x + ¢
2. %
1 . 1 .
—log sin5x+ —~logsin2x + ¢
H 2
3. ¢
: 1 .
—log sinx + Slogsinx + ¢
5 2
4. %

Question Number : 74 Question Id : 4509387274 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
s _
’- log(1 4+ tan x)dx =
1o

Options:

mlog2+1



2_%-5
iy PR
4 6
3. =
o
g ’%
4, &

Question Number : 75 Question Id : 4509387275 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

_ (1 1 1 )
hm {—— g SO =

! | - I -
mam iyt amt =1 gyt == 1)

Options :
2\,-"}?
1. #
2
1.,‘3'?
2. #®
T
2
3. %
3T
2



Question Number : 76 Question Id : 4509387276 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The area (is sq. units) bounded by the curves x = y? and x = 3 — 2y? is

SES000 x = y2 sBOAM x = 3 — 2y2 OB DBV TS0 (3.0rIES )

Options:
8
1. %
2. %
4
3. ¢
6
4, %

Question Number : 77 Question Id : 4509387277 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

T xsinx
————dx =

2,3
L+ E0S°X
Options :

3Im2



T 1
g
2. %
H.Z
4
3. %
n,-z
4, & -

Question Number : 78 Question Id : 4509387278 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The general solution of the differential equation (1 + tany) (dx — dy) + 2x dy = 0 is

953800 aEBEIO (1 + tany) (dx — dy) + 2x dy = 0 B30E), B P
Options:

e*(ycosx +sinx) +sinx =c¢

X i 3 - - e
e*(ycosx + ysinx —sinx) + cosx =0
2. %
e¥(xcosy+ xsiny —siny) =c
3.



e¥(xcosy+xsiny +siny) =c

Question Number : 79 Question Id : 4509387279 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. 0 . 0 "— v
The general solution of the differential equation x dy — y dx = \/x? + y2dx is

9558085 DadEB€0 x dy — y dx = Jx2 + y2dx Q0% e R

Options :

i ol e

y+a2+y7 = cx

2. #

x 4 V"xz g },2 =gy
3, #®

x —+/x2 +y2 = cy?
4. %

Question Number : 80 Question Id : 4509387280 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



e : dZy / dy 4/3.
The sum of the order and degree of the differential equation x (—) = (1 + —) 15

dx? dx
y ¢ whow d’y lfz dy 4/3 — " Y,
292500 DaDSO0 x (E) = (1 +E) 0308 0PN DO Bifede)
o
Options :
5
1.9
8
2. ®
12
3. %
10
4, %
Physics
Section Id : 450938154
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and
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Clear Response:
Maximum Instruction Time: 0

Is Section Default? : null



Question Number : 81 Question Id : 4509387281 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The potential difference across the ends of conductor is (30 + 0.3)V and the current through the

conductor 1s (5 4 0.1)A. The error in the determination of the resistance of the conductor is
28 TSy A0 N FVOHO B30 (30 +0.3)V B0 TeTE0 5O

DS TR0 (5 4 0.)A. ¥i8sy) ABS0 BE0NS B0
Options :

1%
2%

3%
3.¢

4%

Question Number : 82 Question Id : 4509387282 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A body thrown vertically upwards from the ground reaches a maximum height ‘H’. The ratio of the

- . 3H 8H |
velocities of the body at heights ) and y from the ground 1s

24720 oG § 82 0020 DGR 28 s TON (10 i) H'. 2780 ok

M, , . OH
— Sooy— AR 6 SNy Free) A e

Options :



4:9

1. %
27:32
2. %
3:2
3. %
4 % 3:8

Question Number : 83 Question Id : 4509387283 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The angle made by the resultant vector of two vectors 21 + 3j + 4k and 2i — 7j — 4k with x-axis
15
21+ 3) + 4k B0 21 - 7j - 4k Boch DOI® HO HOY, x-03 08 ToTe0
Options :
60°

1. %

45°

90°

120°
4, %



Question Number : 84 Question Id : 4509387284 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The relation between the horizontal displacement x (in metre) and the vertical displacement v (in

metre) of a projectile is y=3x—08x% The time of flight of the projectile is

(Acceleration due to gravity = 10 ms2)

2,8 (93950 G308 882 drods FS030 x (D& &) Bk § Bze0a

TS5050 y QOO0 &) © D5 02080 y=3x- 082 D350 TOS

DOSPEI0D FNB0 S0 (HEdE 3 ¢ 58ea0 = 10 ms)
Options :

.55
1.4

Question Number : 85 Question Id : 4509387285 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A 100 kg gun fires a ball of 1 kg horizontally from a cliff of height 500 m. It falls on the ground
at a distance of 400 m from the bottom of the cliff. The recoil velocity of the gun is (Acceleration
due to gravity = 10 ms™?)

500 m €O D03 DO 100 kg e 2,8 ars 1 kg (072 (e 2087 § 23
DesrodBor DOY00. & 208 P30 @D Hod 400m ErE0S N
DBSE. 0B S T (EES 0 (Hehed s & 58690 = 10ms™)

Options :

0.6ms !
1. ®

0.8ms™ !
2. ®

0.2ms™ !
3. %

0.4ms™ 1

Question Number : 86 Question Id : 4509387286 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Ablock of mass 5 kg 1s placed on a rough horizontal surface having coefficient of friction 0.5. If a

horizontal force of 60 N 15 acting on it. then the acceleration of the block 15 (Acceleration due to

gravity, g = 10 ms ™)

5 kg (903503 (10 2,8 B30 e Heag0 0.5 SORS fiKh% § B8 dairoed her03)

GO, & BR) D 60N §2 ATt 200 A B0, & A} 660

e |
o

((hed ¢ ¢ 09890 = 10 ms™2)



Options :

7 ms 2

1.4

5 ms ™2

10 ms ™2

. =,
4 % 15 ms

Question Number : 87 Question Id : 4509387287 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The average power generated by a 90 kg mountain climber who climbs a summit of height 600 m

in 90 minutes is (Acceleration due to gravity = 10 ms™)

00 kg © 2,8 3 0 PEE 600 m DEN (16> DT 90 ANTOS AT FONES
BA0NTN DN P50 (DD £ ¢ 6¢%€a0 = 10 ms ™)

Options :

100 W
1.4

25 W

200 W



50 W

Question Number : 88 Question Id : 4509387288 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A boy weighing 50 kg finished long jump at a distance of 8 m. Considering that he moved along a

parabolic path and his angle of jump 1s 45°. his initial KE 1s

50 kg € ST 2.8 2200CD €70 202 & 8m EFG0S AR, BB HTWOOH
HB0S SBETENEDEN HOOW @ 45° FHos ErSEDEDN. NS

65 &¢) e 45

Options :
960 J
156017

2. %

246017

3. %

1960 J

4.

Question Number : 89 Question Id : 4509387289 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The moment of inertia of a rod about an axis passing through its centre and perpendicular to its
1 . : . . .
length 1s = MI2. where M is the mass and L is the length of the rod. The rod is bent in the middle

so that the two halves make an angle of 60°. The moment of inertia of the bent rod about the same

axis would be
(55509 M, SR8 L 0> 565 T8} S0ehs80ch) D0k e 5B SPchaydh ©020T

(> 9% 0 0T T B3Ched La,méol—lz MI2. B0tk Sfermren 60° S0 TRer

SO TR D50 S S0DB0B. 8 SoUAS EG TY; BchehS (a0

&3 50 HG0rT
Options:
1
— MI2
48
1. %
— MI2
12
2. ¥
1
= LMLE
24
3. %
] §
= iWLZ
4. % B

Question Number : 90 Question Id : 4509387290 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A uniform rod of length ‘2L’ is placed with one end in contact with the earth and is then inclined
at an angle « to the horizontal and allowed to fall without slipping at contact point. When it becomes

horizontal. its angular velocity will be

2rCe3 2L (10 2,8 NSO ¥ 2,8 DG 2P T Bochsd DS 20 @ S0
TP GOBE® TONT G0UG00. 8 3 A &8 Dodhy SO shom
50T (8068 et S) B8, 2708 Melrosdore H35)008 o) Sedoh St

Options :

3gsina
2L

2L

3gsina
2. ®

6g sina

L
3. %
L

gsina

4, %

Question Number : 91 Question Id : 4509387291 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two simple harmonic motions are represented by y; = 5 [sin 2mt ++/3 cos Zﬂt] and
y, = 5sin [Zm‘ +E] The ratio of their amplitudes 1s
; i3 " W m v ;h)
yy =5 [sin2mt + 3 cos 2mt] HOO y, =5 sin {ZIIH-EI B dSGETe) Jo
DEET0e ) HOTOR AT 0. a7 §0::5:0e A )
Options:
« I3

1.

5 A |

Question Number : 92 Question Id : 4509387292 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



When a mass “m’ 1s connected individually to the springs s; and s,. the oscillation frequencies are
vy and v,. If the same mass 1s attached to the two springs as shown in the figure. the oscillation

frequency would be
m’ (O33R 51 DB 55 ()00 ©F) FO $HT DAY S0 Pedza)sen
SO vy DOy, BT ($S5TFN Tod [R0HOR A0S IRVANIAY

O DNOTTI0 T 50 Zreda)d50 d0h?

Options :

Question Number : 93 Question Id : 4509387293 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A satellite moving round the earth in a circular orbit has kinetic energy ‘E’. Then. the minimum

amount of energy to be added so that it escapes from the earth

25750 O ST 88 565 B 2.8 & fsT0 BEy (1B248 E. b 257
D0G DeroNN0 WO I8 WOB0ISO VN @ da) 33

Options :

£l

2. &

E/,

2E

Question Number : 94 Question Id : 4509387294 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The elongation of copper wire of cross-sectional area 3.5 mm?, in the figure shown, is

(Yeopper =10 X 10%° Nm™? and g = 10 ms™2)

"4

2% S dod, ohe DTG IFO50 35mm? ©Nd, TS O
¢ AN

il d

OO 0eH? NECe

(Ympper =10 X 10" Nm ™2 80 g = 10 ms )

Aluminium
I m

Copper || 0.5m

Tkg

Options :

107*m
1.9

107°m

10 °m

107%m

Question Number : 95 Question Id : 4509387295 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Water 1s flowing i streamline manner in a horizontal pipe. If the pressure at a point where cross-

sectional area is 10 cm? and velocity 1ms ™ is 2000 Pa, then the pressure of water at another

point where the cross-sectional area 5 cm? is
A IaTeT0 AOEGI ) 2,8 § 82 5706 YOS DSBS 37050 10 cm?
) 28 HODY SO [WFPSH0 1ms™ sHOOW [ATFT S0 2000 Pa ©ONS

SDBSTIE 37050 5 cm? (16 ST D0ce) 3¢ B0 e
Options :

2500 Pa
1. %

2000 Pa

1000 Pa

500 Pa

Question Number : 96 Question Id : 4509387296 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A metal ball of mass 100 g at 20 °C 1s dropped in 200 ml of water at 80°C. If the resultant

temperature 1s 70 °C. then the ratio of specific heat of the metal to that of water 1
&1 20°C SO 95) 100g © 2.8 Se:) Femd) 80°C S ) 200 ml NES
2EBDSYE 8 2O G 70°C BB SeTsd HOCH I T,
DT QB Dens

Options :

1. %



5/2

1/,

2. %

2/
3.

2
4, ® /l

Question Number : 97 Question Id : 4509387297 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The efficiency of a heat engine that works between the temperatures where Celsius-Fahrenheit

scales comcides and Kelvin-Fahrenheit scales coincides is (approximately)

2,8 G000 ) JOHR-OR a1t T 8IS0 OO 3O - a8

228 ST DSBS SISO D5 HATNOTY TR (38 & (D)

Options :
45%
1. %
TE07
5 % 35%
60%



Question Number : 98 Question Id : 4509387298 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Initially the pressure of 1 mole of an ideal gas is 10°Nm™2 and its volume is 16 litre. When it is

adiabatically compressed. its final volume 15 2 litre. Work done on the gas is

o 3R
molar specific heat at constant volume = =

1 36 e3¢565) P08 D8, 0SIBSTETREN SEIT 105Nm2 O 16 eI, &
FOWMHD VFAE HoDGETVS HETASHD T HO DdHBSFE0 2 OLB.
T0ka) 3 200 932 [P 080 Frerd MFaro 2

Options :

72 k]
7.2 K]

720 kJ

360 K]

Question Number : 99 Question Id : 4509387299 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



An ideal gas 1s taken around ABCA as shown in the P-V diagram. The work done during a cycle is
28 868) TOW & (808 PV H00S Wrartd ABCA 80D EoHE
HOTONEAS TOVHIOVD R J0H?

P
A
T B(3V,3P)
1 A C(3V,2)
(V,P)
! eV
E D
Options :
2PV
1.4
PV
2. %
=P
3 %
Zero
),
4, %

Question Number : 100 Question Id : 4509387300 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The ratio of kinetic energy of a diatomic gas molecule at a high temperature to that of NTP is
28 & S0remS @980 @HS Gaf|ied Q) ) a)Cd NG NTP Q) Ged) o))
T fBFHO A

Options :

3/,

1. ®
5/3
2. %
5
3. % /?
?/5
4. &

Question Number : 101 Question Id : 4509387301 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The vibrations of four air columns are shown below. The ratio of frequencies is

808 H80¢ Tenth rainPozre SoNmren ranBS e rdyrio A )d

N L .| L |

(a) (b)

() (d)
Options :

1. %



1-2:3-4

1:3:2:4
2.
1:4:3-2
3.
1423
4.

Question Number : 102 Question Id : 4509387302 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A person can see objects clearly when they lie between 40 cm and 400 cm from his eye. In order

to mcrease the maximum distance of distant vision to infimty. the type of lens and power of

correction lens required respectively are

28 358 50 8¢9 DO 40 cm OO 400 cm aDEIS RGO ) YO W )o2OTP

OGO, & )9 Oga (0Rar 306 (rdo JU8F GOTOOD

GO0 §650 DO AN §E8 1P50e) ST
Options :

Convex. 0.25 Diapter
00235, 0.25 AOSrad

Concave. — 0.25 Diapter
- DEFSeS, - 0.25 CAOTR0



Concave, — 0.5 Diapter

i TS, —0.5 AT
3.

Convex. 0.5 Diapter

i 5002758, 0.5 C4AITraD
4,

Question Number : 103 Question Id

: 4509387303 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a slit of width ‘x” was illuminated by red light having wavelength 65004, the first minima was

obtained at 8 = 30°, Then the value of ‘X" 15

v Jehen) Ko IOED 65004 BS0ATEE0 HO B 0B |DEN0 D), 6 = 30°

N6 FciE3 $200 G )R0O. WOV x° )

Options :

1.4 %X 10™* pm

12% 107> m
2. #

1.3 pm
3.«

1.2 pm
4. %

Question Number : 104 Question Id

VN

: 4509387304 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
A neutral ammonia (NH;) i its vapour state has an electric dipole moment of magnitude

5 X 1072 C-mn, How far apart are the molecules centres of positive and negative charge.

$69 OIMAH (NHy) AN DBS 5x10%  Erenod-nbdh dsS
BICS2T080 H0TE0 58 0ine)B. AR 00RO Gy So[dEsm SHOO
2EPE 50|80 aNCIS (G0 D).

Options :

. 4125 x 107 1? m
1.

3125 X102 m

2.

3.125 X 10 % m
3. %

4125 X107 °m
4. %

Question Number : 105 Question Id : 4509387305 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If four charges q; = +1 X 1078 C,q, = -2%x 1078 C,q3 = +3x 1078 C, and

Qs = +2 X 1078 C are kept at the four comers of a square of side I m. then the electric potential

at the centre of the square 1s

Q= +1x108Cq=-2x10"8Cq=4+3%x1078C, DOM q,=4+2x1078C (i®

o0 SRTOMD 1 m 2920 1) 28 HEdN0 Tenih 3T I G0N, eS|

50(230 36 ACH3S FBVAHO



Options :

1% 300V
200V
510V

3.¢
410V

4, ®

Question Number : 106 Question Id : 4509387306 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Eight capacitors each of capacity 2 yF are arranged as shown in figure. The effective capacitance

between A and B 15

2 1F © SaPR83 (10 JNE TPt H0S WP SO @08 RGO,
A BN B D0y s 110 D) SFRBIR) 2)EN6)

C
I
I

[
| |
| I

Options :

10 pF
1.4



12 pF

16 pF

4 pF

Question Number : 107 Question Id : 4509387307 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

IfE; = 4V and E, = 12V. the current in the circuit and potential difference between the points P

and Q respectively are.

E, = 4V 580 E, = 12V &0 8900, D06 trad 500006 )Sar00N ;.

P BN Q DOcHe)® seds FBNHO B0 Jeneden DI
E=12V

1Q Q
P AAM—I——AM—®
E=4V 1Q
8Q)
ANWN—
Options:
| % 1A, 8V
14,6V
2.

0.84A, 6.4V



0.84A, 8V

Question Number : 108 Question Id : 4509387308 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Two 1dentical cells gave the same current through an external resistance of 2 () regardless whether

the cells are grouped in series or parallel. The mnternal resistance of the cells 1s
B NP tro Bodotdd (FHS 0, B Hdrosdsol O, 20

© 2PTEABE0S ST SO [3aT 0T 00. JE3 @0oH AEIE0 e
Options :

10

0.5 0

1.50

2.0 0

Question Number : 109 Question Id : 4509387309 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two toroids with number of turns 400 and 200 have average radii respectively 30 cm and 60 cm.

If they carry the same current. the ratio of magnetic fields in these two toroids is

400 SHB0% 200 HE Do EORS Boch TG © HED TR0 Denaden
ST 30 cm B0 60 em. TOAOE S NSTHRS DS (NaaPO EOCD. WOV
D3 308 )G ®OH 06 S e A e

Options :

21
1. %

Question Number : 110 Question Id : 4509387310 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Three rings, each with equal radius ‘1’ are placed mutually perpendicular to each other and each
having centre at the origin of coordinate system. ‘I" 1s current passing through each ring. The

magnetic field value at the common centre is

o F5rtdo SOR, T DS (D30t e B0y IS LFHED 2.8
RS ©0230™ 800, A8 T0E SoBW, AUFE H3d0 T, Hre)
DO 3 80,9008 3 o336 00 6 VR0 T (a0 DeEN

»X

Options:

Zero
1. %

(V3—1) Hol

2mr

ol

2r
3.¢

Mol
ﬁ_
¥

Question Number : 111 Question Id : 4509387311 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
One bar magnet is in simple harmonic motion with time period T in an earth’s magnetic field. If its

mass 1s increased by 9 times the time period becomes

2,8 OO0, 25 @AHRT08 § ¢ HBOS BOSITS TOS) T & NG¢
2207628 THOR DM A, SOTODT,0hs0 T3E) (a5 T°3 9 TED AR,
TR B8 TR0 dend

Options :

3T
1.¢

oT

4T

Question Number : 112 Question Id : 4509387312 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A coil of mductance L 1s divided into 6 equal parts. All these parts are connected m parallel. The

resultant inductance of this combination 1s

L 8850 $OA A 8 B 3 2PN DAR0BAID. & et 2P
NIPOSISNT §e0IH0 2OANEA. SO & NORTM0 T, IO (8§30
HQIN

Options :



L
, o 36
L
24
3. %
6L
4, %

Question Number : 113 Question Id : 4509387313 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A 50 Hz AC circuit has a 10 mH inductor and a 2 Q resistor in sertes. The value of capacitance to

be placed m series in the circuit to make the circuit power factor as unity 1s

50 Hz AC SO00S0ES 10 mH (G550 0050 22 © DBE FS Eencaa.
& Soohdn W8, TNds FEED 288m GoReR, SOMNS (FS
§eNDIO VN SPVTIR,) DV

Options :
1.014 x 107°F

1. %

1.014 x 1073F
2. ¢



2.6 X 107°F

4125 X 107F
4, %

Question Number : 114 Question Id : 4509387314 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The structure of solids 1s mnvestigated by using

S DT HOTCIIS SHBrAOT EBeTen
Options :

Cosmic rays

522025 88earen
1. % G

f-ravs

B-8¢earen
2. %

X-rays

8
v X S&eTren

y-rays

y- 8&earen
4, %

Question Number : 115 Question Id : 4509387315 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
The surface of a metal 1s first illuminated with a light of wavelength 300 nm and later illuminated

by another light of wavelength 500 nm. It is observed that the ratio of maximum velocities of photo

electrons m two cases 15 3. The work function of metal value 15 close to

2,8 6 aPs00 G0E) E0SOS0D 300 nm SBOATS0 o) 508 S8EFOS 15BN
BOHDAIA. Sareh 500 nm SS0NHTEY50 Ko sHOTME 508 88eTOd (DB
DDA, & B0 H0GEINOS 0SES JO[TS © (18 SHsne A 3
T R0, 00 ¢ a0 T0E) R (AN DV TEIT

Options :

6.48 eV
1. %

1.23 eV

417 eV

2.28 eV
4.

Question Number : 116 Question Id : 4509387316 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The ratio of minimum wave length of Balmer series to maximum wavelength in Brackett series in

hydrogen spectrum is
TS SEN0S 27 S eese)) SEoNTTINE, 2736 13IS R ety
SA0NTTRS o) Aa)ed

Options :



25 : 16

1. ®

4:36
2. %

9:100
3. v

100:9
4, ®

Question Number : 117 Question Id : 4509387317 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The half-life period of a radioactive element A 1s 62 years. It decays into another stable element B.

An archaeologist found a sample in which A and B are n 1 # 15 ratio. The age of the sample 1s

A 83 0GAIFER08 Sro80 ed@ne SO0 62 0561070, 98 B @ hFE

P50 ANLN0 ToNA0D. 28 JYTrdehs TN DTN Ssrard A
OB EN 1115 AAIBES G0 & MedFar 50D

Options :

248 vears

- 248 Q003 YT

186 years

186 00Ed YT



124 years

124 Q06€d TN

310 years

; 310 Q0€2 TN
4.

Question Number : 118 Question Id : 4509387318 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The current gain of a transistor in common emitter configuration is 80. The resistances in collector
and base sides of the circuit are 5 k() and 1 k() respectively. If the nput voltage is 2 mV. the output
voltage 1s
GG G DUNOS R 28 E70IN0 B0 [WDaer 98 80. DEOE3 HOOK
S0 F2) SOOFOSD AT HEOIT 5k0 HOKW 1k0. A ST 2mv
9O A 3 2

Options :

4V
1. #

0.4V
2. ®

0.8V
3.¢¥

8V



Question Number : 119 Question Id : 4509387319 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Four logic gates are connected as shown in the figure, If the mputs are 4 = 0,8 = 1and C = 1.

then the values of y; and y, respectively are

T B8) oen HH0S DY S0 E0NaBN. VST 4=08 =

108050 € = 1 800 y; DO ¥, 2NN BT

—)
L

Options:

1,0
1.¢

1.3

0,1

0,0

Question Number : 120 Question Id : 4509387320 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The maximum distance between the transmutting and receiving antennas for satisfactory
communication m line of sight mode 1s 57.6 km. If the height of the receiving antenna is 80 m, the

height of the transmitting antenna is (Radius of earth = 6.4 X 10° m)

Gon Br HOBS NodyNsEDS (D60 §0 Bodh sotdTye s
OGO a1 RGO 57.6 k. [TaTS SOST™) Je8) 80 m ©ONS (NS S0,
D) (Ararsrdo = 6.4 x 105 m)

Options :

28.8 m
1. %

512 m
2.

25.6 m
3. %

14.4m
4. ®
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Question Number : 121 Question Id : 4509387321 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the longest wavelength of spectral line of Paschen series of Li** fon spectrum is x A, then the

longest wavelength (in A) of Lyman series of hydrogen spectrum is

L% 0087 SEAR0E S (3638 TodS SENE0D e 50 s ddoiEdso

o a0l

x A @RS I EES SEH00S BHS (3658 TodS SEe0 508 SrdS S

$8017E850 (A OS)

Options :
12
il -
1. %
7x
> & B
20x
27
3. %
2Tx
4, % 1

Question Number : 122 Question Id : 4509387322 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If vy 1s the threshold frequency of a metal X. the correct relation between de Broglie wavelength

(4) associated with photoelectron and frequency (v) of the incident radiation is
X 00 28 Sor0 Q) @808 IS0 v, @00 T8 JOFS &
9520052 GO SE0HGE50 S8 (1) NSS8GE Fedsyis098 (v)

NG5 O 000
Options :
1
A
vV — Vo
1.4
P 1
o
(v — 1»’[1)1‘;(4
2. %
5 1
ol
(Vi 1’0)3&
3. %
A o v —vg
4, %

Question Number : 123 Question Id : 4509387323 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In which of the following sets, elements are not correctly arranged with the property shown in

brackets?

1806  ADBOS KroFen 273 & Lras G608 ST @08 2dBE?

Options:



S = Se = O (Electron gain enthalpy)

QOFS ([TEs DOTFO))

F = O = Cl (Electronegativity)

(S0ea DCD3TIed 86ed)

Na = Li = Al (Metallic radius)
(S5 rsrG0)

Na = K > Ba (Metallic nature)

(S5 D 52750)
4. &

Question Number : 124 Question Id : 4509387324 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In which of the following. there is no change in hybridisation of the central atom?

808 e3¢5 BRCHOK. ToIESE 8STesy) 0505680 & St BLH?
Options:
NH; + H*— NH}

1.¢

BF, + F"— BF;
2. %

PC].g G Clz_} PCIE
3. %



C}.FE + FE_} ClFS

Question Number : 125 Question Id : 4509387325 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In which of the following sets the sum of bond orders of three species 1s maximum?

806 & JDBOS’ Kareh 2réhe) 20ES Fare) ZnBo HBR0?

Options :

B,,CN~,0%"

021 FZJ Ug-'_

07, N, 03

C,, 05, Hel?

Question Number : 126 Question Id : 4509387326 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At 240.55 K. for one mole of an ideal gas. a graph of P (on y-axis) and V! (on x-axis) gave a
straight line passing through origin. Its slope (m) is 2000 J mol™. What is the kinetic energy

(in J mol™) of ideal gas?
240.55 K 30, 2.8 IrO &3¢38) FAne)3, P (7-09503) HOW V! (x- @803) ©
65 A D Sredodhs) Dok 3Ty 00D ©D0N0H. TR TN (m) 20007
mol™. &8¢5¢5) ar0S0a) (fede4S, (7 mol™ OF) 0eh?

Options :

2000

6000

1500

Question Number : 127 Question Id : 4509387327 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At STP. a closed vessel contains 1 mole each of He and CHy. Through a small hole. 2L of He and
1L of CHy was escaped from vessel in ‘t” minutes. What are the mole fractions of He and CHjy
respectively remaimning 1n the vessel? (Assume He and CHy as ideal gases. At STP one mole of an

el s B Toobne)
STP 980 2,8 0200 TS He S00AN CHa 00 25385 IO 1Ta))05 Gaom) 0. 2.8
D) 801650 H0G 2L © He AN 1L CHs 20HOH IDgsFanaron. FeS
DA He HOOM CHy © PO 27men SHOT 0eh? (He DOOH CHy €0
SOGITANION @NTDH. STP S 28 Frd edd)roing 24 L ©

DI FTETR), &15D0tHD)

Options :

0.512, 0.488
1. #

TR
2. ®

0.329, 0.671
3. %

0.488. 0.512
4.+

Question Number : 128 Question Id : 4509387328 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

10 g of a metal (M) reacts with oxygen to form 11.6 g of oxide. What is the equivalent weight of

M?

10g® 28 §er0 (M) 88128 & 985500 116 ¢ © 8318 & 613008, M g

eners08 00 )0e?



Options :

Question Number : 129 Question Id : 4509387329 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What 1s the enthalpy change (in J) for converting 9 g of H20 (1) at +10°C to H20 (1) at +20°C ?
(Cp (H20 (1)) = 75 J mol ™ K'!) (density of H2O (1) =1 gmL™)
$10°C ¢ 1163 9 2 © HoO (1) & +20°C 856 6 HaO (1) TP 70,1950 0T oi7)
(1O d0eh?
(Cp (H20 (1)) = 75 T mol K1) (H,0 (1) 2P0( ¢ = 1 g mLY)

Options :

750
1. %

75

37.5



Question Number : 130 Question Id : 4509387330 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A.B. Cand D are some compounds. The enthalpy of formation of A(g). B(g). C(g) and D(g) 15 9.7.

~110. 81 and —393 kJ mol™ respectively. What is A;H (in kJ mol™") for the given reaction?

A(g) +3B(g) —» C(g) + 3D(g)

A B. C 8050 D e &) Jabdaren. Ag). B(g). C(g) OGN D(g) © H03NED

DOGFO)IEN ST 9.7, -110, 81 OO 393 kI molL, 3D 15658 A H (I mol

©F) 0eh? A(g) + 3B(2) — C(g) + 3D(g)
Options :

e T

+777.7

—1418.3

+1418.3

Question Number : 131 Question Id : 4509387331 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At equilibrium for the reaction

4 (g)+By()) == 2AB(g)

the concentrations of A,, B, and AB respectively are 1.5 X 10°M, 2.1 x 10 *Mand 1.4 x 1073M
in a sealed vessel at 800 K. What will be K, for the decomposition of AB at same temperature?
S0P GO0 aP(BES 800 K o)

— 2AB(g)

Ay (9B, (g)
235890 DDTRB 6 Ay, B, (DA AB © TSN DT

15% 1073 M, 2.1 X 107°M OO 1.4 x 1073M. & esf{feh &) AB Do N K,

206H?
Options :

0.62
1. %

5 1.6

0.44

2.27

Question Number : 132 Question Id : 4509387332 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following when added to 20 mL of a 0.01 M solution of HCI would decrease its pH?

& 1800 TS BAY 20 mL © 0.01 M HCI [SerD8 E0D3ych (o360 pH

eho?

Options :



20 mL of 0.02 M HCI

20 mL © 0.02 M HCI
1.¢

20 mL of 0.005 M HCl
20 mL © 0.005 M HCI

20mL of 0.01 M HCI
20 mL © 0.01 M HCl

40 mL of 0.005 M HCl
40 mL © 0.005 M HCI

Question Number : 133 Question Id : 4509387333 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the incorrect statement

A0 5% P55 (H80oHodk

Options :

Saline hydrnides on electrolysis liberate dihvdrogen gas at anode
VBS TBE 0 DS DTINS SSB G BB 050D
DD TADD

CH, 1s electron precise hydride

CH, DO T &0 DO )EOMT (i 3| B&



Chromium hydride conducts heat and electricity

i (5°00H0 T B& s DV 5780
3,

Hydrides of group 15 elements behave as Lewis acids

15 & ({170 o5 TR B €0 TN €300 (2330 00
4.9

Question Number : 134 Question Id : 4509387334 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which one of the following alkaline earth metals does not form hydride when it 1s heated with

hydrogen directly?

818005 359 5226003 TB0YBE S'eF0S B IEBA S ()35 0 I BRI

T 3B G057

Options :

Be

Question Number : 135 Question Id : 4509387335 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In the given structure of Diborane 61. 82 are respectively

}{“\X‘B jiiin\\\ B fr;;H
NN

AD NS B S BR DT€206S 61, 87 €0 SBIT
H H

VN

B e B )®;
N

Options:

1019 118°

118% 101°
979 1209

12009, 970
4, %

Question Number : 136 Question Id : 4509387336 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In which of the following sets allotropes of carbon are correctly matched with their uses?
1. graphite - crucibles
1. activated charcoal — water filters
i, carbon black - fuel
The correct answer 1s
1806 & IS 56 ErarosTren i GHRFTOS SO 3SToHIFN?
L TR0 -
i 5826 S-S D06 en
i, S0 s - OG0
NSONEMME NG
Options :
1. 111 only

i, iii o307 €530

1. %

11. 111 only

i, 1ii o377 €530
2. % "

i, i, iii

i, i, iii
3. %

1. 11 only

i, il o337 €53
4.9 -

Question Number : 137 Question Id : 4509387337 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Which of the following is/are estimated by fitrating polluted water with potassium dichromate

solution 1 acidic medmum?

e30) QIPeSB0ES Eendd AR rEraHo BS N (Te0S ©oISTIN0 260

508 BV ATOTH?

COD | BOD | DO

Options :

I only

I o307(€5a0

1.+

IT only

I S ehahd
2. % i

II & III only
I & IIT 307 €530

LI IIL

Question Number : 138 Question Id : 4509387338 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The number of isomers possible for a dibromo derivate (Molecular weight = 186 u) of an alkene
18 (Br=80u)

2,8 0.5 ) B S €565)09),0 (@9E02RG0 = 186 ) $) APCI 5D RrC3Tse)
A0S (Br =80 u)

Options :

Question Number : 139 Question Id : 4509387339 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In Kolbe's electrolysis of sodium propanoate, products formed at anode and cathode are

respectively

A0 PN THEOD §T) 3S DA HOTVReYCH, SSB HOAN

R IO B €565 T e SR

Options :

C2Hs., H2
1. %

CsHg. H»



CsHypo. H
3 @ 4r10. K2

H>. C4Hip
4, %

Question Number : 140 Question Id : 4509387340 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Zinc oxide (white) is heated to high temperature for some time.
Observe the following statement regarding above process
I. Zinc oxide colour changes to pale yellow
II. The type of defect formed 1s ‘metal deficiency’
III. Some Zn’" and e” are present in interstitial places

The correct statements are

205 &5)& (Bea)) A S0 500 27D @O (18 H& SADT.
2 DEADHE H020HOD 180D 5D N8ID00k

I 205 &3)56 S0 Bed Do) S

L 858 S H0 B0 ‘S oS D0’
ML §) Zn® H005 & 00 @er)0$T e (HBTOS G0Lron

DO ;DN

Options :

I. IT only

I I 335° €5 o)
1. %

2. &



L. IIT only
I. III 5375 a3

IL, IIT only

IL, TIT 230765
3. %

EH T

Question Number : 141 Question Id : 4509387341 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Benzoic acid undergoes dimerization in benzene. x g of benzoic acid (molar mass 122 g mol™) is

dissolved i 49 g of benzene. The depression in freezing point is 1.12 K. If degree of association

of acid is 88 %. what is the value of x? (K for benzene = 4.9 K kg mol ™)

B0AS S BoSonS B0 BehBEGea0) Y08 x g © FoSaws )
(3rerD (9635079 122 g mol™) 49 ¢ © FoES &S EBROTT. sNRBIST Do) b
LI2K. €300 GR0E) eTtide 3¢50 88 % B0 x ENS 0h?

(308 038} Ke = 4.9 K ke mol™)

Options :

2.44
1.¢

1.22

3.66



4.88

Question Number : 142 Question Id : 4509387342 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

At T(K) two liquids A and B form an ideal solution. The vapour pressures of pure liquids A and B

at that temperature are 400 and 600 mm Hg respectively. If the mole fraction of Liquid B 1s 0.3 in

the mixture, the mole fractions of A and B m vapour phase respectively are

T(K) 5 A 6050 B @) BOch (36 2.8 €3¢ (PIeTR) Do, T &F|ifed

G DG (3Fen A DO B © 2P)IGTEN SEMT 400 HOCK) 600 mm H.

F0S (550 B B0E), 376 2710 0.3 ©ONB, 2% ) IS A O B O IS

2T DT
Options :
0.391, 0.609

1. %

0.509,0.491
2. %

0.609. 0.391
3.¢¥

0.491. 0.509
4, ®

Question Number : 143 Question Id : 4509387343 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
In which of the following Galvanic cells emf is maximum?
sk supy _ ; 0 _ :
(Given: Eyjoa+ g = —2.36 Vand Egy 150~ = +1.36 V)

5od e $05 EFOES, & HEFDE emf (18 0?

(B0 )OO Eg 24y = —2.36 V DO EG 1o~ = +1.36 V)

Options :

Mg | Mg?*(1 M) || 217 (1 M)| Cl, (1 atm), Pt

1. %

- Mg | Mg?*(0.01 M) || 2C1~(1 M)| Cl, (1 atm), Pt
L. Mg | Mg2* (1 M) || 2€17(0.01 M)]| Cl, (1 atm), Pt

\ Mg | Mg2*(0.01 M) || 2€17(0.01 M)| Cl, (1 atm), Pt

Question Number : 144 Question Id : 4509387344 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Isomerisation of gaseous cyclobutene to butadiene is a first order reaction. At T(K). the rate

constant of the reaction is 3.3 X 10™*s ™. What is the time required (in min) to complete 90 % of

this reaction at the same temperature? (log 2 = 0.3)

FOMRE 2SS, APGEFTERD T Py BE8EI0 TOSHO 28 (e (8650 5033,
T(K) o8 88 2383550 0w DT080 3.3 x 1074571, AT esgf|1fed 9 88 5855 90 % a0
TErRE DY SO0 (min ) D07 (log2 = 0.3)



Options :

1 ¢ 116.67

233.34
2. %

58.34
3. %

350.0
4. %

Question Number : 145 Question Id : 4509387345 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match List-I with List-II

List-I

(Reaction)

List-IT

(Enzyme)

Hydrolysis of starch to maltose

[ | Diastase

II | Pepsin

A
B | Conversion of proteins to peptides
C

Hydrolysis of sucrose to gluicose and fructose

III | Invertase

D | Glucose to ethanol

IV | Zymase

The correct answer 1s

ORI ORI & BT

O ORI
(B509) (OB
A 3r5) A SrS S T 303N I | oirne
B | (9730 O DG o0 S )8 T [ 22)9

'S & (82 SO0 (952 o B0R3Ne [T | 9588

D| ("8 H0od 2SO V| 23
DB 272

Options
1 A-III. B-II. C-I. D-IV

A-I. B-II. C-II. D-IV
2. ®

A-IV. B-II. C-III. D-I
3, %

A-l.  B-II. C-III. D-IV

4.+




Question Number : 146 Question Id : 4509387346 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The following data 1s obtained for coagulating a positively charged sol in 2 hours

2,8 e 8 O 2 10O 35,0850 TR 020800 §0d ST 00

©D0V0H

Conc. of CI” in mol L™ Result
5x 107 Sol not precipitated (FC'J”PE E—.‘J&’)i&’)@ ﬁ()(ﬁ@d’l})
6x107° Sol not precipitated (O a3 20 TOSB)
7x107 Sol precipitated (PO @95 0 TOHOE)
8x 107 Sol precipitated (RO @35 0 TOHOE)
1x 107 Sol precipitated (V'O @33 20 TOAOH)

What 1s the coagulating value of electrolyte for this sol?

& rS 8, 815 BE B8, 95088 AN J0e?
Options :

7% 107>
1. %
T 1072

5 x 1072

9 x 1072



Question Number : 147 Question Id : 4509387347 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
In which of the following metals extraction. impurities are removed as slag?
1 Al 1. Fe i, Cu . Zn
The correct option 1s
800 & S0 D306, NOTEN & dTDOOM FHT oG oN?
1. Al i1. Fe i1, Cu iv. Zn

DOADD VITFTA0

Options :

[

. i1, 1v only

i, i1, iv o307 €H

1. %
1. 11 only
i, 11 o30°(€5 300
2. %
i1. 11 only
ii. {ii o753
3. ¥ )
i1. 1i1. 1v only
i, i, iv o30°(€H a0
4. ®

Question Number : 148 Question Id : 4509387348 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two of the products formed by the reaction of ‘X’ with HCI are gases. What 1s ‘X™?
HCI S X 1055 65 8160 1805r@amseeS BOh aroieyen. X @S0 S6?
Options:
NaNO,

1.4

Na, 5

CREPE

Na,S0,

Question Number : 149 Question Id : 4509387349 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The correct order of oxidizing power of the given ions is

95526 @05 © 38315888 P30 TNEY DO (E0

Options:
VoI < Cr,02~ < MnOj

1.4

VO} < MnO; < Cr,03
2. #

MnOj; < Cr,0%™ < VvOi
3. %



CiL@ir e« Vol < Mg
4, %

Question Number : 150 Question Id : 4509387350 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Match the complexes in list-I with their hybridization in list-II

OIS D0FTOed OY IS are3 Bg) 050588008 BSIHESN

List-I List-II
Complex Hybridization
Qa0 F 9l D080%Ge0
I Ni(C0), |A sp3d?
II [Ni(CN),]*~ | B d?sp?
I | [Co(NH3)e)** | C dsp?
IV [CoFg]*~ |D sp°

Options :

I-Cc, II-D. III-A. IV-B

1. %
I-D, I-C. II-A, TV-B
2. %
I-D, II-C, III-B, IV-A
3. %

I-C., II-D, III-B, IV-A



Question Number : 151 Question Id : 4509387351 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the following

List-I (Polymers) List-IT (Type)
A | Buna-N-Rubber I |Fibre
B | Terylene II | Thermosetting polymer
C | Polystyrene III | Elastomer
D | Urea-Formaldehyde resin | IV | Thermoplastic polymer

(=]

o

150¢5 Qa3 5063 PN O BSIGI0G

-1 AL
A |2 N-G22)% I | &%
B |80 I | &gt FOKD
C [ORES I | dergfeddd
D | ar80-aromer& 880 | IV | 0 aras rdnb
Options :
A-TIL B-I. C-IV. D-1II
1.¢
A-TII, B-IV, C-L D-1II
A-1 B-II, C-Io D-IV
3. %
A-TV, B-III, C-II D-1I




Question Number : 152 Question Id : 4509387352 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following is not an essential amino acid?

1BOD TS DO 83:5F58 DS @365 5°C?
Options :
Lysine

BOD

o

Histidine

VA

-

Ef

Glutamine

(DED®

Methionine

MAOTFDS

Question Number : 153 Question Id : 4509387353 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which one of the following is NOT a disaccharide?

1808 TS O BFEDE 5°¢0?

Options :



|52

Fructose
D5

2.¢
Maltose
X3S 2S

3. % )
Lactose
e85

4, %

Question Number : 154 Question Id : 4509387354 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Which of the following molecules contain sulphur atom in their structures

I. Morphine

II. Heromn

I[II. Penicillin

IV. Terpineol

V. Cimetidine

500 TS 2 BN T0EY VT30S DD HBTPENS) HOEN0E?
L 5830

I 000

M DAV

IV. B8O

Options :

LR
1. %

II. III

I, vV

IV, V

Question Number : 155 Question Id : 4509387355 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In Wurtz-Fitting reaction a compound X reacts with alkyl halide. What 1s X?
&0 -0 1655 X 86 N850 8BS FBES 855008, X B
A

Options :

1. %
: (1
2. %
: _OH
: _NO,
4, %

Question Number : 156 Question Id : 4509387356 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The product (C) in the following reaction sequence is

1BOB TS50 €535 0 (C)

/O/\ Br, _ aq.KOH
Br

Options :

OH

ST

1. %
OH
HO/O/J\
2. #
/O/\\\CHE
Br
3. %

4.v



OH

Br

Question Number : 157 Question Id : 4509387357 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An organic compound (X) has an empirical formula C4HgO. This gives a pale yellow precipitate

with 1odine in NaOH solution. What 15 X ?
2,8 5670 S (X) ez arider Ciks0. 30 NaOH 806 aiiras &

DeDa) B0 853 TR JEIGDNE. X DI 2E?

Options :

CH3 CH2 CH2 CHO

CH»>= CH CH(OH) CHj3;

e
, « CHi—C—O0—CHs
CH3CH, O CH = CH>
4, %

Question Number : 158 Question Id : 4509387358 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Arrange the following in the correct order of their acidic strength

§0B ¢3Q. 5°¢3 €36 2670 HBTS |Z006S” €958 o0

OH o OH OH
C @ QL »
= 3 | = =
| I i \Y
Options:

>IV>1>1

1. %

IVIII=1>1I
2. %

H=1=H1=1V
3. %

I=IV>=I>1I
4. %

Question Number : 159 Question Id : 4509387359 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What i1s “Y’ in the given reaction sequence?

(1) oleum Conc. HNO;

> X Y
(11) NaOH

(iii) H™

1BOB YOS 1500 Y @0 DE?

@ (i) .00 s HNO;

—— > X » Y
(11) NaOH

(1ii) H'

Options :

OH
@NQQ
1. %
OH
O,N ©,Noz
2. %
OH
[:j NO,
NO
3. % ;
OH
O,N @NDQ
NO,
4. &



Question Number : 160 Question Id : 4509387360 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify B mn the given reaction sequence

CN
MgBr
/
ether oM
i3 —_ A HB—UI- B

808 7580065 B o HB0them
CN
MgBr

M, +

Options :

N,Mgﬂr
I

OO

H

h
T”m | =
— o

2. %

O
Y 1)
== ~



N,DH

o

N

®



